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THIS IS MY ASSEMBLY (a
pedestrian walkway) - WHY IS

IT SO SMALL?
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How can | get 0.2m gradations
on this vertical scale
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How can | get 0.2m gradations on this
horizontal scale, and show major intervals at
1m increments?


Administrator
Callout
THIS IS MY ASSEMBLY (a pedestrian walkway) - WHY IS IT SO SMALL?

Administrator
Callout
How can I get 0.2m gradations on this vertical scale

Administrator
Callout
How can I get 0.2m gradations on this horizontal scale, and show major intervals at 1m increments?




